NOTE:
1.
2.

O

COMMENTS:

+.020 "
S0~ — 23%"OD. |
s L.
-/ o
3X 17" - 30"0O.D
i | |
DETAIL A Al L )
SCALE1:12 [ ?
}
2X 92
8
e22%”%

7
1} — ]
|
ﬁ Y = 2. ‘] Q3
1. 4L 1 52"
1 5 8" i
T
MATERIAL: POLYETHYLENE - LIGHT GREY
FOR USE WITH: COMBO STEP
DRAWN BY: DATE: i .
THIRD ANGLE PROJECTION  UNLESS OTHERWISE SPECIFIED l ] devi TITLE:
TOLERANCES ARE: CHECKED BY: DATE: clear image aevices  MULTIVIEW POSITIONING PLATFORM
;’T\lAGCJé(S)NAL f }4]6" EiFTIELY SR A TEEE TR R PR TR TR 1]
ONE PLACE DECIMAL  + 060  APPROVED BY: DATE: CLEAR IMAGE DEVICES RESERVES SIZE DWG. NO. REV
TWO PLACE DECIMAL ~ + .030
STERELOIAG A 24308-C50 00
SEE NOTES MAY NOT BE DISCLOSED, USED OR
REPRODUCED WITHOUT THE WRITTEN
BREAK ALL SHARP EDGES AND CONSENT OF CLEAR IMAGE DEVICES. SCALE: 1:24 DO NOT SCALE DRAWING SHEET 1 OF 2

REMOVE BURRS

4 2 1

3



',LEON_‘ PART NO. DESCRIPTION 24308-C50/QTY.

1 |C-20304 24308 WHEEL BAR 1

2 |C-20307 24308 LEFT SIDE 1

3 |C-20308 24308 RIGHT SIDE 1

4 |C-20310 24308 STEP BRACE 1

5 |C-20303 24308 FIRST STEP 1

6 |C-20300 24308-C50 PLATFORM BOTTOM 1

7 |C-20309 24308 PLATFORM BRACE 1

8 [|C-20296 24308-C50 PLATFORM TOP 1

9 |C-20312 3/4" X 47-1/2" SCH 40 REAR PIPE - GRAY 1

10 |C-20074 3/4" X 47-1/2" SCH 40 STEP PIPE - GRAY 1

11 [C-20305 24308 UPPER HANDLE 1

12 [C-20306 24308 LOWER HANDLE 1

13 |C-20294 DETECTOR SHELF 1

14 |C-20311 |3/4" X 49-1/2" SCH 40 SIDE RAIL PIPE - GRAY 1

15 |C-20163 24601 TOP SIDE HANDLE 1

16 [C-20148 24404 BOTTOM HANDLE 1

17 |C-20015 #8 X 2" FH SQUARE DRIVE SCREW 33

18 [C-20278 #8 X 1-1/2" FH SQUARE DRIVE SCREW 17

19 |C-20089 2" RIGID CASTER 2

20 [C-20260 1/4"-20 X 1-1/2" PHILLIPS FH SCREW 8

21 |C-20090 1/4"-20 NYLON-INSERT LOCKNUT 9

22 |C-20144 1/4"-20 X 2-14" PHILLIPS FH SCREW 1

23 |C-20146 1/4" FLAT WASHER 1

24 |C-20070 #10 x 2.5" FH SQUARE DRIVE SCREW 8

25 |C-20073 1" RUBBER FEET WITH SCREW 6

26 |C-20025 CLEAR IMAGE DEVICE LOGO PLATE 1

27 |C-20016 #2 X .250" PH PHILLIPS SCREW 2

28 |C-20314 24308-C50 PRODUCT LABEL 1

HRD ANGLEPROJECTON | BLERRUESR e T S o | THE
oo CEkEw ou ( clear image devices  MULTIVIEW POSITIONING PLATFORM
ANGLES +1°

@ | et T RN i
L ETHYLENE ormme Ao e someon | 24308-C50 00

REPRODUCED WITHOUT THE WRITTEN
BREAK %ELMSSCERPBEER%ES AND CONSENT OF CLEAR IMAGE DEVICES. SCALE: 1:26 DO NOT SCALE DRAWING SHEET 2 OF 2

5 4 3 2 1



	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3
	Drawing View4
	Detail View A (1 : 12)

	Sheet2
	Drawing View6


